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Guage Pressure

Explanation:

Guage pressure, or Pguage, doesn't take into account the atmospheric pressure in its readings. In chemical engineering, unless

other wise stated, we want to use absolute pressure in calcualations. Converting from Pguage to Pabsolute is done using the

following formula:

                                       Pabs = Pguage + Patm

note: Let me re-emphasize, when pressure is initially given in guage, alway's first convert Pguage to Pabsolute before any other

calculations . 

Example:

Click here to work the solution with me

Click here to check the answer if you worked it by yourself
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